
Division by Scaffolding: Bags of Stuff
Objective: This activity will help reinforce long division strategy.

Activity Instructions: 
Think about 539 oranges that need to be stored in bags of 4 oranges. Figure out how many bags will be needed to store all the oranges.

First write the dividend 'inside' the corner, and the divisor outside:

      4
   539
Hundreds

How many 4’s fit in 539?



   



     4
  539 

- 400

  139


Tenths

How many 4’s fit into 139?


       30




4    539


    - 400

      139


   - 120


        19


Ones

How many 4s fit into 19?



4
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       - 16
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Connection to division scaffolding:
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 539




539 ÷ 4
 = 100 + 10 + 10 + 10 + 1 + 1 + 1 + 1 + r 3




= 100 
          + 30

+ 4
 + r 3
= 134 r 3

So the final answer is 134 bags of oranges with 3 oranges left over.

100                                      





100                                      





100                                      








